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Exercise 1. Consider the following grammar with the set of terminals:

> = {id ; := int float main do else end if print scan then while}
U {E BE}.

The set of non-terminals: N ={P DL D VL. T SL S ES IS WS I0S}

The start symbol is P and the set of production rules are as follows:

1 P — main DL SL end

2 DL — DDL | D

4 D — TUVL;

5 VL — id VL | id

7 T — int | float

9 SL — S SL | ¢

11 S — ES | IS | WS | I0S

15 ES — id := E ;

16 IS — if BE then SL end |
if BE then SL else SL end

18 WS — while BE do SL end

19 I0S — scan id ; | print E ;

Transform the grammar to equivalent LL(l) grammar.
Exercise 2. Compute First of ever production rule and Follow of every non-
terminal that can produce ¢ to justify that the grammar is LL(1).



